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Triangle - area
by deck26
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So cur triangle hae area A+B whidh i clexrly
half the area of the main rectangle (2B + ZB).

But the area of the main rectangle is the
base of the trimngle times the Neight

So area of triangle = A4B = 12 x base x Neight
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Pythagoras

by deck26
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Now however we arande the triangles within
the red suare the yellow area must te the
game a8 long a8 we dont overlap the triangles.

In this arrandement
the yellow area is
Made UP of the
sjuares on the other
two #ides.
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Circle (area & circumference)
by deck26
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Now we imagine filling the circde with a

. The hexagon can be Made from
6 equilateral triangles so each side of each
trimgle 18 the same length a# the radius.

So the ciraumference of the Nexafon is
6 x radjus.
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> get @ 6 X 6 uare We heed to add
to aur B x B suare. In number
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Triangle numbers

by deck26
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Whichever way we combine we €et a
rectangle of N by N + 1.

Sinee we Tade the rectangle using two
copies of aur triandle the number of
blocks in cur triangle is therefore

NxW®N+D/2
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